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41 Stationary level

Lag ADF t-stat Critical Value
1% 5%
Inv1 13 -1496915  -3.5047 -2.8939
InV2 i 0539349  -4.0613 -34591
InV2A il 039237 -4.2165 -3.5312
Inv3 i 1287229 42112 -3.5562
INRY i 1672441 -4.0613 -34591
i 2 -1525924  -3.4965 -2.8903
DI 1 -1.441492  -3.4959 -2.89
ie 6 -1821418  -3.5889 -2.9303
1 -7.860686  -3.4965 -2.8903
InB 1 -1.638165  -4.0512 -3.4543
InT/C 5 -4.210665  -4.0503 -3.4539
InL 1 0382521  -4.0512 -3.4543
Stationary level
41 (7) (TIC) stationary
99 Velocity of ML Velocity of M2 Velocity of M2A
Velocity of M3 (RY) ()
) (ie)
(L) (B) Nonstationary 5
1 1
Stationary
stationary level plot
1 (first difference)
intercept intercept trend (

intercept  trend)
1 Velocity of M1 Velocity of M2
Velocity of M2A Velocity of M3 (RY) ()
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4.2 stationary difference level

Lag ADF t-stat Critical Value
1% 5%
AlnV1 2 -3.574142 25891 -1.9438
AlnV2 2 2786412 -2.5891 -1.9438
AlnV2A 7 -4.058497  -2.6196 -1.949
AlnV3 il -2.676855  -2.6395 -1.9521
AlnRY 2 2713031 -2.5891 -1.9438
A 1 -6.487664  -2.5864 -1.9433
Adi 1 -6,130344  -2.5864 -1.9433
Aie 5 -7.108798  -2.6168 -1.9486
AInB 2 -6.721627  -3.4965 -2.8903
AlnL 6 -4.346843  -4.057 -3.4571
stationary first difference
42 stationary 5 1
stationary
(71) ' ' (TIC)4
integrate 0 1(0) Velocity of ML
(V1) Velocity of M2 (V2) Velocity of M2A (V2A) Velocity of M3 (V3) (RY)
(B) (0 1 !

(Dl) (i)
(L) integrate 1 1(2)

Cointegration

Unit root integrate 1

(TIC) integrate 0 }‘Q
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Cointegration (M

Cointegration
integrate

Cointegrate lag

lag VAR undifference
data lag lag

Likelihood ratio test ~ Likelihood ratio

IR = -2 (RLLF- ULLF)

ULLF Log-likelihood function Unrestricted model
RLLR Log-likelihood function Restricted model
HO lag lag Restricted model
HL lag lag Unrestricted model
LR test statistic X Degree of freedom (df)
([ i lag Unrestricted model
Endogenous variable VAR
43  Log likelihood VAR V1
lag Log likelihood InV1, INRY, InL, i InB
1 1371.297
2 1385.887
3 1399.377
4 1407.044
5 1426.358
6 1436.688
7 1459.12
8 1458.821
9 1482.847

1496.088

[
o



HL

HO lag 9

H . lag 10
LR = -2 ( 1482.847 - 1496.088 )
=26.482
p-value (26.482 ) =0.385  df 152 = 25
p-value 5
lag 9
HO lag 8
HL lag 9
LR = -2 (1458.821-1482.847 )
=48.052
p-value (48.052 ) =0.0037  df 152 = 25
p-value 5
lag
V1 9
44 Log likelihood VAR V2
lag Log likelihood InV2, InRY, InL, InDI
1 1436.364
2 1493.665
3 1495211
4 1498.496
5 1509.803
6 1520.208
7 1532.081
8 1531.082
9 1553.391
10 1574.55
lag 9

lag 10

InB

63



pvalue (42.318) = 0166 df

LR = -2 (1553391 - 1574.55)

= 42318

p-value

lag
V2

45

1
2
3
4

lag

HO
HL

p-value (60.3598) = 0.0067  df

1
2
3
4

10

Log likelihood
Log likelihood

lag 3
lag 4

15 = 2

5

VAR

InV2A, InRY, InL, Inie,

881.3645
892.518
910.7874
940.9673

LR = -2 (910.7874 - 940.9673 )

=60.3598

p-value

lag
V2A

4.6
lag

4

Log likelihood
Log likelihood

5

VAR

1062 = 3

V3,

767.8939
797.6913
829.0414

850.4401

V2A
i

InB

64
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HO lag 3
HL lag 4
LR = -2 (829.0414 - 850.4401 )
= 42.7974
p-value (42.7974) = 0.0038 df 1(62) = 36
p-value 5
lag 3
HO lag 2
HL . lag 3
LR = -2(797.6913-829.0414 )
= 62.7002
p-value (62.7002) = 0.0038  df 1(62 = 36
p-value 5
lag S
V3 3
Cointegrating  vector trace
test (ATace)

Kace = -2 log(e)

—TZlog( j r=0,1,2,---,n-2,n-1

47 48 49 410 Cointegrating
Vector trace statistic  eigenvalue Normalized cointegrating coefficients
Cointegrating vector Velocity Normalized

cointegrating coefficients
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4.7 Cointegration Johansen maximum likelihood

. V1

Cointegration LR test hased on trace or stochastic matrix

Null Alternative  Eigenvalue  Likelihood 5Percent 1 Percent
Ratio Critical Critical

Value Value

r=0 r>1 0476635  137.3501 * 68.52 76.07

<1 >z 0333287  T77.13475 * 4721 54.46

<s >3 0259997 3943299 * 29.68 35.65

<3 > 0103243 1143066 1541 20.04

< =5 0013843 1296406  3.76 6.65

Normalized cointegrating coefficients : 1 Cointegrating equation

V1 RY L i c
1.00 1.2102 -2.70632 -9.68765 5.1866 -16.46942

(058989)  (1.04070)  (1.46512)  (0.54578)
The estimated long-run equilibrium relationship
VI =121 RY+27061InL+9.688i- 5187 InB + 16.469

Lr Cointegrating vectors
2. Null 5% 1%
i Null 5%

3. Normalized cointegrating coefficients
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4.8 Cointegration Johansen maximum likelihood
: V2
Cointegration LR test based on trace of stochastic matrix
Null Alternative  Eigenvalue  Likelihood 5 Percent 1 Percent
Ratio Critical Critical
Value Value
r=0 r>1 0.432262 119.4285 * 59.46 66.52
<1 >o 0341783 6734764 *  39.89 4558
[<2 >3 0206627 2887138 * 2431 29.75
<s (>4 0.075367 7576926 1253 16.31
r=5 0003991 384 6.51 12.97
Normalized cointegrating coefficients : 1 Cointegrating equation
InV2 RY DI L B
1.00 7.05406 -46.17703  -7.25678 3.74288

(145177)  (98.8146)  (155503)  (1.66488)
The estimated long-run equilibrium relationship
V2 = 7054 RY+46.177 DI +7257 InL- 3743 B

Lo Cointegrating vectors
2. Null 5% 1%
* Null 5%

3. Normalized cointegrating coefficients
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4.9 Cointegration Johansen maximum likelihood

. V2A

Cointegration LR test based on trace of stochastic matrix

Null Alternative  Eigenvalue  Likelihood 5 Percent 1 Percent
Ratio Critical Critical

Value Value

r=0 r>1 0.797828 2105742 ™ 8249 90.45

<1 > 0684655 1386357  59.46 66.52

<2 > 0628939 8670173 ™ 39.89 45.58

<3 = 0398789 42.08928 © 2431 29.75

< (> 5 0341236 1919285 © 1253 1631

r<h =6 0.009076 0410273  3.84 6.51

Normalized cointegrating coefficients : 1 Cointegrating equation

VZA RY  InL ie i InB

100 000016 -407851 -2.93967 100201 7.59563
(0.1263) (05911) (0.4723) (L4739) (1.0239)

The estimated long-run equilibrium relationship
V2A =-0002 RY+4.0785 L+29397 ie- 100201 i- 7.5956 B

Lo Cointegrating vectors
2. *® Null 5% 1%
* Null 5%

3. Normalized cointegrating coefficients
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4.10 Cointegration Johansen maximum likelihood
: V3
Cointegration LR test hased on trace of stochastic matrix
Null Alternative  Eigenvalue  Likelihood 5 Percent 1 Percent
Ratio Critical Critical
Value Value
r=0 r>1 0.812307 197.3866 * 114.90 124.75
<1 [>2 0.796678 1304687 * 87.31 96.58
<2 >3 0500575 66.75017 *  62.99 70.05
<s > 0397668 3897822  42.44 48.45
>5 0.264341 1870038  25.32 30.45
<5 =6 0148300 6420824 1225 16.26
Normalized cointegrating coefficients ; 1 Cointegrating equation
V3 RY L e i B t c

100 15544  -14.10591 -20652 78501 60685 01150  139.938
(29291) (16582) (2367)  (10.287) (64741) (0.1400)

The estimated long-run equilibrium relationship
V3=-1554 RY+14106 InL+2.065/e- 7.85i- 6.069 B- 0.116t-139.938

Lo Cointegrating vectors
2. * Null 5% 1%
* Null 5%

3. Normalized cointegrating coefficients
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Johansen and Juselius Cointegrating Vector Trace test

Likelihood ratio 47 48 49 410 (V1, V2, V2AV3)
Null hypothesis Velocity
Velocity 5 1
Cointegrating Vector Vi 3 1
V2. V3 Cointegrating Vector 3 5
Cointegrating Vector V2A 5 1
Velocity Velocity
Vi
4.7 (RY) -1.21
ML 1
Suraphol (1991) (1998) ! (L)
(I 2.706 9.688
Vi
Suraphol (1991) (1998)
-5.187
Bordo ~ Jonung (1961 1990) Raj  Siklos (1988)  Siklos
(1993) Monetization
Monetization 4 1
(barter)
2
Velocity
V1 Vi
2536-2541 Vi 2533-2535
2536-2541 9.43 2533-2535
112
2534-2539 8
2533 -2541 1.2
V1 2536 -2541

VA 2533-2535 8.03



2537
14.74
2540
2540 9.74
1 .
2541

48
Vi

M2

46.177, 7.257

(1989)
V2

2041

V2

4.9

1

2538
V1 Vi
141
1052
2541
! 1% Vi
V2 V2
RY) V2
(1998)
7,054
1 V2
(D) (L)
3743
V2
V2
V2 2533-2541
( 2540 2541)
V2
405 2540 355 2541
V2A V2A
V2A  RY VIW
0,0002 M2A
V2A U
(ie) M2A ()

4.0785



29397-10.0201  -7.5956

72

2537-2539 2538
2537-2541
1093 2538
2540 \"

V3

V3 RY)
1,554

1

()

14106 2.065 -7.85  -6.068

V2A
V2A
242
8.03 2537
V2A
V3 4,10
VIV2  V2A
M2A
V3 L)
M3()
03
1093 2538
V3 2538
2541
2538

V3 2540

V3 2538
0.5
8.03 2537
V3 2539
)
V3

V3

V3
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Velocity

Velocity
Velocity
1 V2
V2 7
V3 V3 15
Vi 3 Vi 121
V2A
1 V3
V3 14
V2 M2 7
V2A V2A
4 Vi
V1 2.11
1 ( 10 n )
V2A V2A
10 V1
Vi 9.69 V3
V3 7.85
1
V2A V2A 759
V3 V3
6 Vi
Vi 5.19 M2
M2 374
1
V2A
V2A 3 V2A 2.07

Velocity Velocity!
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Velocity Velocity
Velocity
Error correction model
VL, V2 \v2n V3
Error correction model (ECM)4 ECM Vi,
V2 V2A V3 411 412 413 414
Vi Error correction term(ECM(-1))
-0.22 10
22
Dummy variable 0.04 10
ECM V1
ECM V2 412
ECM term 0.02 5 10
Disequilibrium V2
Dummy variable
10
Vi ECM  V2A 4.13
ECM term -0.63 10
63 Dummy variable
ECM V3 4.14 ,
ECM term -0.45 5

VI V2A

45

Dummy variable
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411 Error Corection Model V1
Dependent variable AlnV1
std. Error  t-Statistic Std.Error  t-Statistic

ECM(-1) 0.22 0.13 -1.69 AlnL(-6) 1 2.22 0.45
AlnV1(-1) -0.39 0.39 1 AlnL(-7) 043 2.21 -0.19
AlnV1(-2) -0.04 0.39 01 AlnL(-8) 0.34 2.33 -0.15
AlnV1(-3) 0.07 041 0.17 AlnL(-9) -2.18 2.19 -1.27
AnV1(-4) 0.22 0.34 0.65 Ain i(-1) 24 2.56 0.94
AlnV1(-5) 0.54 0.33 164 Ain i(-2) 21 291 .72
AlnV1 (-6) -0.46 0.35 -1.31 Ain i(-3) -3.65 2.93 -1.25
AInV1(-7) 0.8 0.35 -2.29 Ain K-4) 17 2.66 0.64
AlnV1(-8) 0.9 0.37 -2.57 Ain i(-5) 0.33 2.3 0.12
AlnV1(-9) -0.48 0.38 -1.26 Ain i(-6) 011 2.11 0.04
AINRY(-1) .18 0.43 0.42 Ain i(-7) -2.33 2.8 0.83
AINRY(-2) 0.39 0.44 -0.89 Ain i(-8) -0.98 2.96 -0.33
AInRY(-3) -0.34 0.46 0.74 Ain i(-9) -2.24 2.99 0.75
AInRY(-4) 041 0.45 0.91 AlnB(-1) 148 113 131
AlnRY(-5) -0.98 043 -2.28 AlnB(-2) 0.82 1.08 -0.76
AInRY(-6) 0.14 0.44 0.32 AlnB(-3) 081 1.09 0.74
AInRY(-7) 0.28 041 0.68 AlnB(-4) 248 1.05 2.36
AInRY(-8) 0.39 04 0.98 AlnB(-5) 013 115 011
AlnRY(-9) 0.3 0.38 0.79 AlnB(-6) 0.76 118 0.64
AlnL(-1) 0.33 173 019 AlnB(-7) 0.79 114 0.69
AlnL(-2) 16 197 0.81 AlnB(-8) 143 114 125
AlnL(-3) 2.56 18 142 AlnB(-9) 128 116 11
AlnL(-4) -1.99 181 11 C -0.09 0.06 -15
AlnL(-5) 371 1.82 2.04 D 0.04 0.04 1

R-squared = 0.85
D=0 2533 - 2540 D=1 2540 - 2541
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R-squared = 0.87

0.02
-3.05
241
-141
-0.86
0.45
-1.24
-0.01
-2.23
-2.24
021
2.17
-3.07
092
0.38
-1.12
0.94
-0.55
164
1.86
-0.08
-2.25
182
0.68
-4.86
0.75
-1.85

Error Corection Model V2

std. Error

D=0

0.02
121
114
129
124
1.39
141
1.38
143
144
133
12
114
1.38
128
1.46
1.49
144
152
144
1.35
21
1.92
1.99
2.04
2.3
2.56

Dependent variable AlnV2
t-Statistic
1 AlnL(-7)
2.9 AlnL(-8)
211 AlnL(-9)
-1.09 AlnL(-10)
0.69 AInDI(-1)
0.32 AlnDI(-2)
0.88 AlnDI(-3)
0.01 AInDI(-4)
-1.56 AlnDI(-5)
-1.56 AInDI(-6)
-0.16 AInDI(-7)
181 AInDI(-8)
-2.69 AInDI(-9)
0.67 AInDI(-10)
03 AlnB(-1)
0.77 AlnB(-2)
083 AInB()
-0.38 AlnB(-4)
1.08 AlnB(-5)
129 AlnB(-6)
-0.06 AlnB(-7)
-1.07 AInB(-8)
0.9 AlnB(-9)
0.34 AlnB(-10)
-2.38 C
0.33 D
.72
2533 - 2540

D=1

-0.003
-0.26
-6.07

43
0.16
2.31
-14
133
241
1.06
0.16

111

2.01
242
0.16
0.7

031

2.67

-0.78

0.58

-0.68

0.72
0.98
0.36

-0.07
-0.01

std. Error

3.02
3.02
311
2.29
1.78
217
2.05
19
2.03
2.35
2.03
2.07
2.14
242
1.08
1.06
1.05
1.07
1.15
12
104
1.08
1.09
1.16
0.06
0.04

2540 -

76

t-Statistic
0
-0.09
-1.95
1.88
0.09
1.06
-0.68
0.7
1.19
0.45
0.08
-0.54
0.94
1
0.15
-0.66
0.3
25
-0.68
048
-0.65
0.67
09
031
-1.17
-0.25

2541



R-squared

D=0

4.13 Error Corection Model V2A
Dependent variable AlnV2A
std. Eror  t-Statistic
ECM(-1) 0.63 0.34 -1.85
AInV2A(-1) 103 2.04 05
AnV2A(-2) 168 22 0.76
AInV2A(-3) -5.63 173 -3.25
AInV2A(-4) 831 198 4.2
AInRY(-1) -1.02 2.07 -0.49
AInRY(-2) -1.96 2.23 -0.88
AInRY(-3) 5.58 1.69 33
AInRY(-4) -8.32 201 -4.14
AlnL(-1) 4.66 2.57 18
AlnL(-2) 473 3 158
AlnL(-3) -0.09 2.78 -0.03
AlnL(-4) -0.88 2.69 0.33
Alnie(-1) -1.83 0.88 -2.08
Alnie(-2) -0.93 0.77 -1.28
Alnie(-3) -0.66 0.5 1.3
Alnie(-4) -0.02 0.34 -0.06
Ain i(-1) 15.76 6.73 2.34
Ain i(-2) 2.46 6.97 0.35
Ain i(-3) -4.99 6.45 0.77
Ain i(-4) 3.88 5.72 0.68
AlnB(-1) 681 9.34 0.73
AnB(-2) 155 10.26 0.74
AlnB(-3) -10.47 9.74 -1.07
AlnB(-4) 6.05 84 0.72
C 0.01 01 01
D -0.09 0.07 -1.29
2537 - 2540 =1 2540 -

2541

7



4.14 Error Corection Model V3
Dependent variable ~ AlnV3
std.Error  t-Statistic
ECM(-1) -0.45 0.22 -2.05
(-1) 3.24 3.86 0.84
AlnV3(-2) -3.94 321 -1.23
{-3) -3.74 2.2 1.7

AInRY(-1) -2.82 4.08 -0.69
AlnRY(-2) 4.16 3.21 127
AnRY(-3) 411 2.3 179
AlnL(-1) 01 4 0.025
AlnL(-2) 0.12 342 -0.04
AlnL(-3) 3.28 34 0.96
Alnie(-1) -1.25 0.7 -1.79
Alnie(-2) -101 0.55 -1.84
Alnig(-3) 0.97 0.37 -2.62
Ain i(-1) 1422 10.29 1.38
Ain i(-2) 3.46 11.95 0.29
Ain i(-3) 1399 103 1.36
AnB(-1) 105 1172 09
AnB(-2) -1.17 13.05 -0.55
AlnB(-3) -11.8 11.92 -1
C -0.03 0.09 -0.33
D 0.01 0.07 0.14
R-squared =0.7
D=0 25371 2540
D=1 2540 - 2541

ECM term ECM V2
Disequilibrium ECM V1 V2 V2A0 V3
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